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UulVuttptthp 18,230,431
031212t0 Ou{r!hhp trcuz 4pruri 300000 300000
03410000 Qutrn (50 x 50) trcu2 ilturn 2500 1s000 6
09111100 [Ibm]u prulgurpturth hunlurn t FCU2 huln 500 2000 4
09132100 trhtrqft qphrllrmri trcu2 Ltr-tt 584 642400 I 100
09132200 trhhq[rh ntqnrgurp trcuz t_t*p 480 432000 900
092 1 1000 U'hphhurlf 1mn trcuz hunn 500 1000 2
09211900 Qhhquururht rnt.n trcuz hutn 300 1200 /
1421t000 U{uq /frurnfr4ur1ftu/ trcuz uturpll 250 2000 8

t42122t0 U{uqurtr;mp trcuz hq 12.24 9030 125
t4212400 {n4rufuun0nrp4 trcu2 ulurFll 1700 25500 l)
t4212400 {,n4rufuurn0mp4 trcuz tqurlll 3840 38400 10
4410000 Uq uhlufu $1u lurtu 20\q-LuLng rq u pt1 nrl rLu4 hurur 840 8400 10
4820000 qqr4!h trcuz hurr.n s00 2000 4
56 1 2000 U11mp ecu2 trq 300 1500 5
5800000 Uhtrnuninhnp rL_ ut" 4Funi 600000 600000 1

8141000 f, ur0rlnnuUu0 dhn[inq tibn trcuz qnl]q 300 9000 30
8 1 30000 'Itnuru uhbbplr ul-r urpur urh urq n ruur trQUZ hurur 1 500 4s000 30

l 8 1 30000
rlhpuruurlrtrhpfr urptnurhurqmuurhhpp qurhhlnr (2hfu nf
2uqf\bhp trcu2 huur 11 s0 3s000 20

823s000 .lnnnturqurtru trcuz hrurn 2100 t4100 7
83 1 6000 QnpburE uqfrurur\ qmqurqnr-lqurtrhp trcuZ huln 5000 20000 4
83 1 6000 Ynrgrugnllulru trQU2 qnltq 3170 2s360 8
8420000 nhqhlr trQUZ rlhrnn 150 3750 25
8420000 eupd.htrhhn trQUz qnLlq 100 400
8424000 lhnhnq rnnhtnuurdh uruhtnuit trQUZ qnltc 300 6000 20
845 1 000 9ndurh trcu2 hunn 100 2000 20
8452000 Pnpnq trcuz urnrilr I 000 4000 A

84s2000 Pnnnq trcuz rnnrr-h 200 I 000 5
84s2000 ltrrlurub4 trcu2 huln 900 3600 /

J4pru hurgnruurf trcu2 hunn 9s0 66s0 7
8453000 C4pur hurqnruurh trcuz rlhrnn 1000 5000 5
8530000 lnt2ruhrltphhp trcuz huln t2 I 1000 917
86 1 0000 unnBh trQUZ r{hnn 6700 33s00 5
88 14000 Uuruhlr trcu2 hunn I 560 18120 t2
8930000 L{hph ruunt ecuz huln t2s0 t2s0 I
9 140000 9ruurlh tnulrnrurhhn FQUz ntqhrJhrnn 200 9000 45
2 2300 Vrnurl FQUZ hunn r2000 24000 2

92 1000 Uhh+hrunh rLu4 Lq I 400 28000 20
2 0000 jurquLlttr hurutnhh trcu2 tlhurn 500 2500 5

192 0000 oahp trcuz huru 2500 2500 I
92 0000 Zuruur durq rur.l hb Uunnhq trcu2 hu.rur 250 6500 26

I 92 1 0000 .{tnhurzuuthth ttrnnp trcuz rlhtnn 4000 40000 10



19210000 Uurnur$ruhh tunn trcuz ilhurn 6000 30000 5

92r0000 iurnruurh h dhthurh turnn ACUZ rlhun 6000 s4000 o

19210000 lnnbrlurEp uh huranrunh hutilurn trcuz dhurn 4000 168000 t7

192 0000 lnnSrlur6o uh FCUZ rihmn 2500 1 75000 30

192 0000 lnnErlurbp uh FCUZ {hurn 2200 39600 l8

92 0000 Qnnbrlrubp FCU2 rlhurn 450 4s00 l0

192 0000 *nntllurbo trQUZ ilhrnn 2000 10000 5

192 0000 $nnbrlurbp burnrihn ilhtnn 5500 13750 2.5

t92 000 Snnbrhubp uhtrrahr.nhlt rftr.nn 2500 20000 8

s2 000 QnnErlubo uhhrahrnht trQUZ rlhrnn 2300 I 3800 6

t92 000 Qnnbrlurbp uhtrohnht trQUZ rltrnn 2100 r0500 5

92 2000 Qnnbr.lurbp rnnhtnnud rJhurn 1 800 14400 8

192 2000 QnnErl urbo rnnhh nururd trQUZ rlhurn 9000 l 8000 2

92 2000 lnnbdurEp EulIEurLh trcuz tlhurn 4000 44000 I

9i 2000 Snhtnurrud anthunlnn trcu2 dhurn 5000 2s000 5

92 2000 2hra trcuz dhurn 1 200 8400 7

92 2500 bnhqurb /urhutiur/ trcuz dhurr 600 9000 l5

9t 2s00 bnhoub /tnhuriu/ pcuz rihr.nn 450 5400 12

9230000 Qnnbrlurbp rlmrh trcuz ilturn 1200 3600 3

9240000 Qnnbr.lurbp rurnrruu FCUZ rlhurn 2200 24200 1i

9240000 lnnbilurEo tnrlhn PCUZ rihtnn 2000 10000 5

9240000 9nnbdurbp nnunu trcuz rfhurn 9500 I 9000 2

9240000 Qnnbrlurbp nnuru trcuz rlhurn l 0000 20000 2

r9240000 Qnnbrlur8o nnuln ecuz r.[hnn 6500 6500 I

9240000 QnnbrlurEp nnurru trcuz rlhurn 9600 28800 3

9240000 QnnSrluEn $rha trcu2 r.ihr.nn 2500 t62s0 6.5

9240000 lnnbrlurbp $rho trcuz r-[hrrin 300 450 1.5

19240000 InnErlurbo Srho trcuz rlhrnn 3500 24500 '7

9240000 lnnErlurbp rltttntn trcuz tlhurn 4500 I 5750 -.t.)

9244000 lnnErl urbo il urnuramrnh trcuz ilhurn 3700 37000 t0

9240000 tjhrtunlhtlu mue dhurn 2000 20000 t0

9240000 trnhohhur AQUz dhrnn s000 rs000 3

9240000 >lnll .ecuz rJturn t 200 24000 20

9240000 Frruo FCUZ rihurn I 600 24000 15

9240000 Frura FCU2 ilhurn 400 8000 20

9283000 @hurnr-n ACU2 huln 480 1440 3

9283000 @hurmn trcuz huru 3000 3000

I 9430000 Ohr rihb nurnhh trcu2 huln l 000 20000 20

19430000 *nrhrurlnn ratt ACUZ hu.tn 150 l 500 10

19430000 Ohr turnurLntr trcuz ntuln 1 U00 34200 19

19430000 fdh nmLrh trcuz hurur 1 600 i2800 8

19430000 ldhr bhurunnntur trcu2 huln I 500 16500 ti
19435 100 fdtr turnh trQUZ huln 9s0 32300 34

19640000 'l) nr htnhr hburhh tnnu: nurt trcu2 LIhurn 200 4000 20

19640000 Unph qunt 201-ur0ng trcuz hurn 600 12000 120

r9640000 Unrb qun\ 60yru0ng hu-ru 800 48000 60

19640000 in un urb ururnnhn rur r"h ub nh trcuz hurur t200 12000 l0
19640000 3hrn$ruh FCUz ilturn 300 6000 20

19640000 flurnurtB hruumttn ACUZ ql uitr 35rJO 3580 1

22 1 10000 lhnp FCUz huru r 0100 I 0100 1

22213000 [rluurohn "Q.nnbo" Fquz huln 4000 48000 12

228 10000 Qnuruthnuturrhh qhnp trcuz hulul 800 8000 10

228 1 3000 Sthruilnp qhnp FCUZ hunn I 200 2400 2

228 1 3000 apuilup\qu{bh qbpp trcuz hurur 2000 4000 2

228 13000 qurhhuurh qhnp trQUZ hruur 600 4800 8

22816300 U2nr-riir pnr*qp trfuz huru s00 I 0000 20

228t6100 SrnLhnur trcu2 hunn 2000 4000 2

22820000 LurnLurhh hurchrlhhn trcuz hu;ur 20 7400 370

22820000 iurril.uruht trQUZ hruur 5 50000 1 0000

22820000 (urzrl.nturLh trcu2 hurur l0 20000 2000

228s2000 Oqpruqutrur\.ph1n{ trcuz huur 100 5000 50

228s2000 Orpurqtutnu\ \ndqurinr{ ACUZ huu 300 6000 20

2285 1000 Upuqur\urp trcuz hurur 90 4500 50

228s210U Surtt FqUZ unrr.h I 500 r5000 10

24315610 lhnnrir ruurruhh trcuz huur 16200 32400 2

24440000 alurpupulu0jmp trcuz huur 2000 30000 15

24452000 {u\upqhqul!tti pnt0 up!il!\urLn trfuz huru.r 450 2100 6



244s2000 Ont0upfri[lruur ri]r2uurtrhp]r h urfrqhpf 4hri trcuz huru 7s0 3750 5

24454000
fomLurplnlfr\urur urhptrt-rbpf qnr-1hp purprfurghn4 h
Lqurhulurhnn

trcuz hruur 2500 7,5p0 3

24452000 {u\ugbg trcu2 huur 420 t2600 30
24911200 fdrunnhrh unuhhd. trcuz hurur 550 550
24951t20 Ufrftlp0 trcu2 hu.rur 1000 r0000 10

24911200 tilmlufru 3.5Uq trcu2 hurur 4000 '20000 5
24910000 hilnuuhur 3.5 Lo trcuz huru 4800 5'7600 12
24910000 hrlmruhur 3.5 Uq trcu2 huru 4500 r 8000 4
24910000 Lurhnhur trcuz hunn 1200 36000 30
24910000 Unuhh& trQUZ hrurn 2000 30000 t5
24910000 Unuhh& Lurhnhrn trcu2 hunn I s00 30000 20
24910000 Unuhtrd. U'I$-h trcu2 hunn I 000 15000 l5
24964000 Jurhn bluh hhnmb trcuz thutn 7200 2 I 6000 30

30 14 1000 {uzdh> tJtphtrtu FCU2 hurur s600 1 6800 J

30142200 Zut hr-nnurilurnbn urrhh rlhphhru trcuz htuur 2rJ0000 560000 2

30192100 flhurfL r trcuz hrurn 200 3000 15

301921 10 +pflnhufbn{ trQUZ hruur 6s0 l 9s00 30
30t92121 lnh>htn bunlrrunhlnr.l trcu2 hurm 100 1 0000 r00
30192130 Jtuurhrn trcuz hurur 100 6000 60
30 92160 :-phlo trcu2 hurur 400 4000 t0
30 92160 lupflu {p&hn{ trcuz hurur 3s0 3s00 10

30 197 1 10 runhth uuhn trcuz hruur 100 2000 20
30t97t20 9ndquli trQUZ rnnL+ 200 6000 30
30 97320 kurpn4 qnpblrp trcu2 hr,urn 1 300 6s00 5

30192125 Irup\hp trcu2 hurur 295 5015 t7
30 97221 hlnurh trcu2 huur 180 3600 20
30 97221 [riptu\ dhb trcuz hurur 400 2000
30 99r l0 'Ilunndhhurhurhnrl pnlnB FCUZ tnmill I 500 7500 5
30 92200 Jurtrurhrfhr.nn pcu2 hruur 300 300 i
30 923s0 Z'IU-fr pnr{ p qml urq nnd trcuz hunn 180 72000 400
30 94700 Lhburrn nhnAu-rbh trcu2 huru 6000 6000 I
30 97200 fthghurnnruurnn FQUZ huru 1000 40000 40
30 99792 lpqtgnttg trcu2 hurur 2500 1 s000 6
30 97620 Omnp ntnhh qnllhh U4 $nnrlunn trcu2 tnmtn 700 1400 2
30 93400 Onrah rnurl-rnhn trQUZ hunn 4800 4800
30 93400 tdnBh ururbnhn trcuz huru I 560 I s60
30 199400 9rulnrh nnrnra (fu ubrhrhrrr ) trcuz hunn 711 8600 2
302 1 3300 Zruriur!rupqfry cz hurur 400000 400000
302 13300 Zuilu!urpqfry C2 hurur 240000 240000
302161 10 U!ubhp /dpfr1 CZ hurtn 86000 86000
30232110 Luqhpurlfrtr urqhy CZ hruu 78000 78000
30233132 Upuupltr \n2u ulur{urnurll CZ hruur 42000 42000
30230000 Unhlnnnp trQU2 hunn 299000 299000
30237000 Onluulhnruhr rlQU trcuz huln 1760 3520 2
30237000 Urrthurhn.lQU NNTI' huru r0400 t0400
30237000 Zmltuqntqh) FCU2 hrurn 6300 6100
30237000 lnlur uLuLlurnurlr trcu2 hunn 49000 49000
30237000 Uhmqrlurh nrnh trcuz huru 37800 37800
302372s0 tlnhhumptr farug urtr&hnngfr\ FCUZ hurur 3600 36000 i0
30233300 Orlul|rL purpurlr dmlurlr turn4urqnn urunp FCII2 huru 8000 8000
30237100 3mqlrhuhtp 1000VA PRO trQUZ hunn 26000 1 04000 4
30237r00 3mulfrhu 1500VA PRO trcu2 hruur 45000 45000
30237136 lurlhurl]rh purpur trcuz huru 4s000 45000
30234300 IhuLhn CD-R trcuz hurm t20 24000 200
30234400 lfu!hp DVD;R trcu2 hunn t75 35000 200
30237132 ludur\rupqlur1frh lurp trcu2 hunn s000 10000
30231132 l]nhhurnnh rurn trQUZ hurur t2400 t2400
30237132 Zuduu !urpqyfr d,ru qtrrulfrlL USB trfu2 hurn I 56750 1567s0
30237260 Zhnnruururqnuqh turtuhr trcu2 hunn 1 8000 l 8000
3i210000 bnur$urq urrlurmlunn hunn 19000 l 9000
3t212t00 tlhluurh> ull nnrlurtn 40A trcu2 hruur 4000 4000
3r212t00 JL2unn[r1 ul]urniluru i 6A trcuz hurur 2500 2500



-l 213000 'ih. hnurnuretuhr trcu2 hunn 800 800 I

21 1310 lruurhndhr trcu2 huln 200 2000 t0

3 224100 funnqh uurLht 2 urhnurhnq trcuz hurur 2000 i,[2000 6

3 224t00 funnqh wruhhr 6 urhnruhnq hruur 4000 4000 I

3 224100 funnq huln 500 500 I

3 224t00 furino trcuz hu.nn 400 6400 l6

3 32t200 l]urrmh 2*2.5 trCUZ ilhup 400 20000 50

3 321200 Jrurnrtu 2*4.0 trQUz dhurn 600 42000 10

J 321000 Zurnnnnurrurn trcuz rlhurn 500 t2900 25.8

3 321000 9urph1 trtuz rlhurn 540 9720 18

3 410000 Junurbnq trcuz hurn I 560 6240 4

-t s1 1000 Lmuurndruth nhhl.r ecu2 huln 400 4000 10

5 1 1000 LmuurnLurl.rh rulfu.r ecu2 hunn 9000 9000 I

3 5 18200 Surnhurhriurh urqnrunru nduh t nruruqn rlq LED trQUZ huln l Iu00 59000 5

J s 18100 Lmuurnd,urtr trcuz hruur 50200 200800 4

3 5 1 2000 Lullu Phiilins trcuz htutn 9900 r48s00 15

3 5 1 2000 urrfur I rLu4 hurur 7500 75000 10

3 5 1 9200 Luliul npuh qmqurhhnlth O35 12V20W trcu2 hrurn s00 s0000 100

J 521300 :Lnhnil lurdutn trcu2 hurur 1 800 450000 250

J 527210 Luruurhn trcuz huln 2200 4400 2

3 53 1000 Lruriu 40W trcuz huru 432 8640 20

3 s3 1 000 Lurilrr 220v 50W trQuz hunn 550 s500 10

3 53 1000 Lurilu OMNILUX hurtn 13600 68000

3 68 1 200 hhl.rrnnurturh ru nrJui trcuz huur 30000 30000

3 6s I 000 Lfh\nrulr2 duqu{b0 frqnlh0 Ln I 2 n pfig/ trcuz hruur t75 5250 30

3 6s 1000 JtLnLuhr duurutlh0 honrh0ut trcuz hruur 250 7500 30

J 65 1 000 bnrrl rJhlr trcuz huln 3500 3500

32324000 lhnmurnursnrrq SHARP trcu2 huru 2 19000 2 1 9000

3233 1300 CD-h rhrhthn trcuz huru 52000 52000

32342300 FurnAnurlunuh nurnrunnh, trcuz hurur 53000 3 l 8000 6

32343000 Ordh4urgntglrl purpd.prulunun{ rupur4ur4}r hullup FCUZ hrurn 422624 422624

32ss0000 lhnurlunu FCUZ hunn 4500 4s00

32572000 Lurn 3T-37 trCUZ hruu 12000 12000

33r4ttt7 Furdnurt ntriph trcu2 hutn 1000 10000 10

33 141 I 17 Furdnurt rur ut u-tl runurb trQUz hutn 600 6000 i0
33 14 1400 0'huth0h 6hnOnc0bn trQuz qmlq 500 1 5000 30

33693 100 @m0urphrihhurur trQUz htuur 700 7000 i0
3371 1 I l0 Uhtnhuururnht uutnht trcuz hur,n 2000 2000

33711200 Sruurn nhilph trquz hurr,n l 890 22680 12

3371 1200 lhrloh rfuronnn hhnnrt trtu2 hunn 1200 12000 10

!3711400 flunnhrhhn trcuz huln 600 4800 8

3371 1900 'Tlnuorutbhnh hhnnrb trcuz r hrnn 5000 1 50000 30

337tr200 Ulph rlururhn trcu2 huln 1 100 6600 6

337 1 1430 Uh&hnncht huln 800 4000 5

337 1 1 600 Chruqh rLu4 huur I 250 6250 5

337 1 1 s00 'Tlnhuhu b ur durhb uL urL trcu2 hunn 1200 1200

33742200 Uuhhbtmn trcuz hunn 540 540

3376 I 000 9nrqurpurhlr pm4p rlhb qyuhullrurphpnrl trcuz huru.r 9s0 r90000 200

3376 1000 9n rq unurirh Bmnp unrrlrhnnr] trcu2 huln 650 227500 350

33763000 thnph onrah unnhrbhn trcuz trrnLrh 990 3't 1250 375

33763000 Chnph BnBh unph)Lhn cz urnu[ 750 600000 800

343 12000 'IInnrhh rLu4 bmfturhtur 20000 20000 I

343t2000 9n1gtu ACU2 \ndqlh\ur 1 0000 1 0000 I

343 I 2000 Tlurthq trcu2 Lnilqrttur 5000 5000 I

343 1 2000 I-ururmh trcuz hurn 10500 42000 4

34312000 TlnntIuurUurth rlhnurhnnnqrlurtr hnilruthhrn FCUZ tmfturtLu 5000 5000 I

343 i2000 :updlrfr rfin2hfr-h hhurbfr uurfr\ hruu 750 l 500 2

343 12000 lurpdh>h rmq FCUZ lhlrlF r 2000 60000

343 12000 uLinf$pfq FCUZ tr*n 6000 30000 5

34324000 Uhhrl hhtrurbh hunftun trQUZ hrur-n 2500 30000 t2
34324000 [Ihhr] burhnuoh trcuz huru l 000 s000 5

349 10000 Uurrrurt rihb trcuz hurur 4400 4400 I

37452710 tdhhhuh ohnurb trcu2 hurur 200 6000 30

37525000 Qhnurt trcu2 hurur 2000 2000 I



37823800 Uulhunurranmn ururnnhn huuurnrBtnrhlrhnh FCUz hruur 625 5000 8

37823800 Unrlurnuronrnn FCUZ hrutn I 600 1 6000 l0
39 I 100 Quruururn FCU2 rlhurn 7500 . 30000 4

39 44000 Sdurnunlurh FCU2 hunn 2000 400c 2

39 36000 Lmuurnurrh burfuhr FQUZ huln 100 1000 10

t9 74000 3nrorufuruL FCU2 huur 4000 4000

39220000 tl,tr&hnnqht h urhn urnnhr m rutiub FQUz hurur 1200 6000 5

39220000 Llmfrulrul trCUZ huln 8400 42000 5

392211t0 Otrh uruuup FCUZ bnrfturhtrn 36000 1 U0000

39224100 llrlht anqu]rdhurtnrl FQUZ htuur 2200 6600 J

39224200 Lhuurth rluronhrnr irLrnoruhut hnLurn hutn 7500 22s00 3

39224300 Uuurbh rhuonht hiurn 2100 6300 J

39224330 'Lnr11 hurmru\ rlurppn4 dfrymqnLl, dn4n{ trcuz 'hurur l 1000 33000 J

39221 120 [uhn /ilhb, rhnprr/ FCUz tnmrh s00 2000 4

39227 120 Llhphhuuh uruhn N80. N90. N100 FCUZ tnntln 1661 1 0000 6

39226300 9ndhn omhrurlnn FCU2 hrurn 200 1 0000 50

39226300 Jhphhurrh tndhn FCUZ hurur 600 3000 5

39225600 UmI FCU2 hrurn 300 1 U900 63

3922s600 Jnti FCUZ hunn 100 3000 30

3922t100 Curpurnuliruh scu2 hu.tn 700 4200 6

39221100 Gurournh uhhchrn FCUZ hrurn 1300 6s00
39223100 lnru FCUZ huln 320 9600 30

39224210 Lt urnlurt urh rl nd,hl,r FCU2 tnnLtn 6000 30000 5

39225100 \nurLrurnhs trcuz hunn 750 1 500 2

39240000 trmpnrl pup Wings 1 1 5n{-2.5{{-21.23' FQUZ hruur 750 3750 5

39240000 funnq pun Wings 230rirl-3[{-22.23 " trcuz hurur I 600 24000 15

39240000 tlmpnq pup Tigarbo 355.3rftI.25.4 FCUZ hrurn 3000 9000 3

39241200 Ulrnrutn rahr l-rurnhrnr FCUZ hunn 1400 t400
392989 l 0 Sntrurbrun pcuz hrurn 17u50 17850

39298300 Ouq\ullurhtrhp trcuz huln 2500 15000 6

39298300 OunLudurhh rnurLnhn FCUz hurn I 160 s800 5

395t4200 Fhrh unnhs ecu2 hurtn 900 l u00 2

395 1 3200 Utrdhnnqhh hnLurn urnuiml eQuz hrurn 250 62s00 2s0
39s 5000 trurnhhph rlurnurcmrn rLu4 hurur 2950 5900 2
39s 14300 Unnhl nhuruhuhnh hunlurn FCU2 hrur.n 990 297000 300
39525500 3urhq ruururnr-hurhh FCUZ rihrnn 350 350
39s25500 Surha rihtnurnurtruir trnl rfturn 800 800
39s2s000 Qohuurh Eurbbno /rthrnr/ FCUZ hum 800 8000 l0
39525800 [uuLh fruBnhtm lnn FCUZ huur 900 27000 30

39s4 110 Thunurtr FCUZ hunn 900 4s000 50
3954 110 Tlurnurl.r nunlnurir ho FCU2 rlhurn 50 22500 4s0
3956 000 jurhrurb nhohl-r FCUZ rlhurn 264 l u50 1

3956 000 Jurhlurtl FCU2 rfhurn 50 400 8

397 300 Ohrhhlr ACUZ hunn 3150 3150
3971 43 <\hnhhp CV-3 00/ 1 rhnrht rr r h unrud.qurlt urtr fu nn ml urlt ACUz hruu r 6000 1 6000

3971343 <Vhnluhp CV -4612 rhnzhhmrh runur&qurLuti funnndurh trcuz hr.urn 1 1000 I 1000

397 J+J <<\hpluhp>> EV 5/hlrn2h\nrfr qurp\hp trcuz huur '750 120000 160

397 343 <<9hpluhp>> rlrn2h\m1lr \pp |unqurhurlhtp FCUZ huln 7000 r4000 2

397 3500 Llnnmlr hrurn 50000 s0000
397 4000 JhUnnufubdru '1x20 FQUZ hrutn I 300 26000 20
397 4000 9urruht tuin rurnnrnurLnil FCUz hu.rr.n 2000 4000 2
397 4000 luro $nhnh R22 HARP FCUZ nl 40000 80000 2
397 4000 f,nun{nht PCUz hrurn 3500 3500

3981 1300 Jnn Bruntlurqlnn EnrnruU [,tn purnrdnhg FCU2 huln 6000 120000 20

398 12100 6hpq FCUZ hurr-n 2s00 50000 20

398 12 100 (uuru! rluppbpr 2np FCUZ hurut 5'70 1 1400 20

398 12100 Phnhr rhnrm FCUZ hurr.n l 000 5000 5
398 200 Urunrhq FCU2 hurm 2000 20000 l0
398 200 Urumhq t trcuz hurr.n 4000 32000 8

3983 600 l,itqirttrh\ odun qmqurpurhu\ntrplr Fuln\h FCUZ hurtn r 900 28s000 t50

3983 240 l'bqbhbhU odurn qfruntup FCUZ hurtn 250 2s000 100

39831240"
lh4hurtmrp oqururqnpbrlutr d,hnpfi mtrlrrlhpuul rllr2ng
l000dr

FCUZ hruur 3200 32000 l0

39831240
lh4huLntp oqtnuqnpbriurb d.tnp| mhfllhpuul rf]r2ng
5000dr

trCUZ hruur 6000 120000 20

39831240 luqnr-u urh urlutn r"uhurhnn hhnnrb /.{urhhr/ FCU2 hurur I 200 2400 2
39831 240 flurhLuur /urlurnurhurlmn rhnqh./ FCUZ hurur 260 1 3000 50



3983 r300 -Iu$hr dhmrurfu drupnbrnr nr 0htlbnuu.t t hhnn t [t pcuz hunn 1650 49500 30

39831600 9mournurhurLnho duronhr nr hhnnr-lr trcu2 hruur 900 21000 30

3983 1700 lhn ntt odurnh nhuru htruhn trcue hurn I i000 99000 9

4213 1000 Surp h uurnp gplr bnpur\ (urlfruurlruhl) trcuz hunn 20000 40000 2

42131000 Surp h uurng 2plr bnpur\ 4m2nrl trcuz hurur 20000 40000 2

42160000 lhrhnh tunriu Lquduuhnnd treuz huru 2'/ 5000 27s000

42160000 lnguhurnm untful UqunJuruhnnil trcuz hulrn 57000 57000

42160000 QurBuruth L n u-rL Ll r nh >h (Su n u n LtrL ur) ul nL un uu utn trcu2 hurur 2U000 28000

42r60000 trpu\ujp[$ \u3b]r urpurhu$npriruurnp trcuz hurur 1 8000 I tt000 I

42160000 trpu\ur1pf 2f t1t\rnpnrl trcuz hurn 27000 54000 2

42633000 luthtnhuthh hruulnnq trcuz htuur t42000 t42000 I

42716120 Ldusph dhptLur trcuz huln 2s0000 2s0000 I

42924300 EhBh Eluh ilhphl-nu trcuz hurur 675000 675000 I

42968300 liruqhhutp qmqrupurtrlr pqplr huliurp urnr-rlrhpnrl trcuz hum il 000 99000 9

42968000
Jpurqpur{npnq ullurmlurur pur2}urupurp (o4p prupilhghnrl
rhuuhbutn)

trcu2 hurn 40000 1 20000 3

44 1200 Shrlhhu pcu2 uurnb 2300 I 3800 6

44 I 800 Surlulutbp 2frhurpurpu! urtr (1 fimnqlurtr) trcuz hrurn I 807 9035

44 58 10 Furnhhph Irurluhr trcu2 huiur 50 r200 24

44 52t0 lnh tuhuurnrhur trcu2 hunn 5100 5100 I
44 34000 l{hqun trcuz hurur 1 5000 1 5000 I
44 4250 '[hrlqurnrnt hurn t6s 14850 90
44 1000 6.t urlrL-rnnmlurL trcu2 hurur 23s00 4'7000 2

44 1000 'TIt. funnnrlurb LIhurn 550 2200 4

44 1000 funnnr.lurlr hurur I 500 1 s00 I
44 67000 fuunfnr-rn trcu2 hrun I t50 1 8400 t6
44167200 lrnrphr trQU2 hr.uur lt0 I 6500 150

44 643r0 Orl ulnurn lu n n nrl rulr q hti [l ur ul uin rf hr.nru n hq trQUZ q.d 4500 67500 15

44112100 tdhphn qhhhruuutn trcuZ bo 576 176832 307

44 000 n{\ /170x2751 trQUZ hurur 1 3200 13200

4419 000 'I.l't /185x275/ trcuz hunn 6000 4U000 8

44 000 Ourlurlur lnpum (pefixa) trcu2 rlhun 800 r04800 131

44 100 Surhrnruh trcu2 nnuril 346050 346050
44 100 $tutrhnru trcu2 nulln 6285 44000 7
44 100 0nr.lrntuqt ururn trcuz hunn 2400 14400 6
44 2000 ZnUunnrnn btnnnh rlnu /P180.P220/ trcu2 ilhurn 600 1 800 3

44 2000 *tuhurt, rlurrhtr trcu2 hurur 2s00 s000 2

44192000 Qlutlurfrurphpml rlhrnp I Orfhmpurhng trcuz hurur 23s0 4700 2

44192000 Qlurtrulf urphpml rlhnp T.5dhurFuhng ENII' hurur I t50 3450 3

44 2000 'ilhtnrh burhmroh trcuz huur 150 I 500 t0
44t92000 clhufr trcuz huru 200 3400 t7
44 92000 Otuhh (uhuuh) trcuz hrurn 400 I 0000 25

44 2000 rlnuh upqhlu\]r2 trcuz hurur 1 200 t200
44 2000 bhBuurr.nnn trQUz hurr.n 300 600 2
44t92200 Uhlu hq 1 500 3000 2

442 2510 UhLrnrhurlr rhurrurh 1.80 x 5 ACUz hunn 1 800 I 8000 i0
44 2225 trurnhhoh Ann trQUZ hrur.n 'r400 r4800 2
44 222s {lnn dnn trcu2 q.b.il. 220 5280 24
443 3200 llhrnurn uir urh unur luurn trcuz rJhurn 320 960 3
44 5300 OBnl qnntlurtr hurilurn trcu2 hurur 600 12000 20
44 5300 lhurq trcuz bq 6550 3100 2
44 6000 Purnruhntuh tunnnrlurb trcuz ilhurn 160 136000 850
443 6000 Cdhrrhn trcuz rlhun 4000 200000 50
44 6000 l-Ihururn urt uh urhh rnrhurb trcu2 rlhurn 2020 52520 26
443 6400 Uhururnrur duluunlth trcu2 rltun s00 32s00 65
44333000 Uhrnurnurrurn ecu2 dhurn 400 81200 218
44334000 1)nnruururh"ulnn$hr trcu2 bq 367 6600 18
44410000 ]mzh nnhhl trcuz hutn 1200 200
44411700 9nrqu nurhurl nfu ph ruuntrh urdn uL trfu2 hurr.n 600 600
44411700 9mcunutrh rfhluuthorl trcu2 huln 6000 6000
44424200 Aurr hururrhh hurururtr h uL ns FCUZ hurur 21000 2 1 0000 10

44424200 UIlnr irlhbi trcu2 hruur 400 r2000 30

44424200 ULnr /finpn/ trcu2, hurut 250 12500 50
44424200 U\n1 /finpp/ ecuz huu 1000 20000 20



44424200 Lhumrtur trcuz dhurn I 000 5000 5

44425200 TlnntrtuurLru trtu2 hurur ll 30 2

4442 s00 Uhrhbnht dnn trcuz hrum I 000 , s000

44440000 llnurhqpurturt FCUZ hurur I 800 3600 2

44423200 Uuurhdurh PCUZ huln 49200 49200

44482000 IJurno nl.rnmhhr-huthr trcuz hurur i09200 109200

44482000 UurntnL nq h hb urnrulr urh trQUZ huln 10800 I 0800

44482000 [1o nuruunp. hnnhhh. 6]uurrhh hunn 4800 32 I 600 67

44482000 I lonuruurno- hnnhhh. ohmiurthh trcuz hurur 3000 258000 86

44482000 Ucnuruurnp. hnnhhh. d,hnph trcuz huln 4200 21000

44s 1 1000 9urtrrmlth cnnbhp trcuz hunn 8500 8500

445 000 9urhlnrutur trcuz hurur 24 12000 500

445 1000 [ 9n4]r2(qu3u1hf\) hurur 7400 14800 2

445 r000 h1qn4|r2 (qulu1bf\) trcuz hunn 2200 8800 4

445 1000 lhnplr 4nh1 trcua hurur 50000 50000 I

445 1000 Lnpq[\ /bppuuqng/ FCUZ trln+ 2350 I 1750 5

445 2000 Qhn FCUz hunn r000 2000 2

445 2200 4urnl}ur2nLIrId trQUZ huln r 000 2000 2

445 2200 Zurnnulurlh trQUZ hurur 4800 4800 I

445 2200 IItnnu2ntnF trcuz hrurn 1000 1000 I

445 2300 Umnd trcuZ nruln 1 000 2000 2

445 2000 -IilnL! trQUZ hurur 1 600 l 600 l

M5 2910 Currlullr0bp hlltruph uttuppbp 2tutftft trcuz hruu.t 571 l 9985 35

445 29r0 )uqru{ 0hp utLupphp thLu:uth trcuz hu;m 600 i5000 25

445 2910 lurrrhhnh (urlbnrn) huln 7s0 I s000 20

445 4000 Anftnrh trcuz huur r 000 l 000

44522400 Llhomb rhurlrurhh trQUZ hunn 960 9600 t0

4452tt00 Durtuih trcuz hruu 2500 s000 2

44s21t00 OurLrutr FQUZ hur.n 6000 I 2000 2

44531600 UuLh\, hhqlntu Fquz hruur 70 14000 200

44s3 1 600 Zhnrnru M10. ilurhhl; trQUz huru 250 26250 105

4453 1 600 Zhnrmu M8. riuhhb trcu2 huru 75 7500 100

44s32200 Surfionurttrhn trcuz hunn 60 420 7

44550000 Quuuhurh trcu2 hurur 200 1000 5

44810000 Lhnthn /qnuphhrv trcuz nnull 2s0000 2s0000

448t2200 trurlg trcuz huln 7300 2t900 3

448122r0 3nqurbhp\ trCUZ tJ'*p 6950 20850 3

44820000 Lurp urhqntlh trcuz hruur 8000 24000 3

44820000 turp trQUZ hurrn 3200 57600 l8

44831 100 U-ruuutft\tu hruut s00 I 500 3

44832r00 [Iohr-nnh ACUZ hurur 600 1 8000 30

44832000 Lntbhr trcu2 huru 700 1 4000 20

44832000 Lmbhr rhuln 900 9000 15

44832000 Crh$ trCUZ thrnn 1 800 14400 8

44921100 $hrru trcuz tc 316 ts800 50

U2luwnutttptthp 444,150

79820000 Fm\1hulr urqurqpmplmh FQUZ 4purrI 400 120000 300

79820000 inriuurqppfr urqurqpmpSmh FCUZ 4Funi 1 050 181650 173

79820000 llpntihrihhuh urlu urgnmBlmh FCUZ nnull 5 40000 8000

79820000 U$f2u1f uquqpntplnrh trcuz 4punl 200 100000 500

79810000 'tlurur{nqpf urqruqpnrplmh FCU2 huru 2500 2500

AunulntplnLhtthp 35,940,1 79

41 1 10000 fuilhpr 2nrp <Uupnrp 2nrp> FCUZ hu:ur l 800 86400 48

45261910 9pntgurpurhlr ururhlrplr rltpurtrnpnqntil trQUZ hruur 200000 200000

4s262321 gpmgurpruhfr hritnu\fr mrylnlil trcuz hurur l 90000 l 90000

45262610 ,

Uhb pLrifr 2urpdur\u,rtr hurpfdu\b 2updrln4 (b.ufri"tt)
phhpfr ururlurnur\hhp urilpurghhlm n2 unruh4urpu
hhnrmuh h r.furhhbh uururnururnnlil

trQUZ hurn 2500 50000 20

45343 100
Uhb phrllr rlurpruqnr-Sphhpfr tr \nr-$uthpft
hrullurhp4hhurlfrh lmbnr-1pnrl urnqnpnul

FCUZ \t2 2000 240000 t20

45343200 Zur\urhp4hhurl|rtr huilur\urpqlr uurpphplr dnhururdmrl FCUZ hluur 599400 s99400 1



45421100
llhrnur4urqlurur-nh 4nLhp]r {rur\uhhpf , pnbu\Lhp}r
thqiluthhnh rlhnurtrnnnqmlf

trcu2 huln 35280 35280 I

4s422100
}h\nphhpp qruhhlm hurilu,rp rlurpui\Lhplr
tttttt nntttrrr nnr r f

trcuz Dri 3335 lzoooo 36

4s442t00 Uhb phdf 2updu\urtr h urh2urpd htuuru\]r hhp\mrf trcuz hruur 100000 100000 I

4s443000
Opupntrb dur\uurur3$r puiqpfphhpf {hpruhnpnqmrl 1:

rburbmrl
trcuz huur 250000 250000 I

501 121 1 I
+U9bL df\pnunlurnpmulr 1dur+pF {hpurlnpnqmd h
:bnhnul

trcuz hurur 400000 400000 I

s01 18400 +U9bI- ilf\pnun{urnpnru}r 2undb$ rlhpurhnpnqnr-rf trquz huur 1 00000 100000 I

503 10000 Z'IU-| uqururup\mrl trcuz urdlu 2500 30000 12

503 12000
Zunfur\urpq2ur3fL uupphp[ qurhqurtrnr-ri h
iltnurhnnnonuJ

hulm 5000 75000 t5

5041 1200
Qurqurlfh huZri]rfh urnnrqurlulJniuill \urpqurlnpmil Ii.

rlhnrrrftnnnnnr r f
trcuz hrurn 86850 86850 I

s04t3200 ttpu\tiupf 2lihpb qhpur*igpunlnpmti trcuz huu 7000 140000 20

50413200 Zru\ruhp4hhrul]rh hulfur\urpqfr uquruurp\nui' trQUZ urllru 6000 72000 T2

50712000 Fhilf ilhluuLlrq,it hlh nhfnurgh\ rlhpruhnpnqmd trQUZ udfu 36000 432000 I2

508s0000 'Ih\npulnnpfr uhquhhhpfr npufu ur1 rlhpuhnpnqnll trQUZ huln l s0000 300000 2

508s0000 iDpilrpurqlru uurb uh4urhfr qurnpurunnui trcu2 hurur 25000 25000

5 I I 10000 Uurppurr{npmrifu hpfr rinhtnrudmri trcuz hurn l 08000 108000

5151 1300 SmnLlr\hrnlr uh4ur4priurh burnurlnrplnth trcuz huur 720000 720000

60r20000 Surpufr burnu;mplmh trcuz 4purli 60000 60000

60441000 Onh Burnrfhqmd trcuz hurn s000 60000 I2
63s 2000 U{hururuuruun!nr-ri /rnniluhnh r.l urdurnp/ CZ nnuril 3850000 38s0000

641 0000 Onurnurlfrh Eurnurlnrplnth ecuz 4nuril 40000 40000

642 0000 2hnurhurn nnnurt orlurh trfuz ulihu 167 1'70 2006000 12

04z 6200 ShnhL ur ullnrp lulfu bur nurrnrBrnrh trcu2 4null 70000 70000

651 10000 QnurrlulnurLrumunrJru 0 trQUZ rurfhu I 1500 I 38000 12

652 0000 Qurq EQUZ ulihu 997940 4989700 5

65210000
Qruqruuquluup\rftuh huniru\urpqlr uquruurp\nu.i h
llupqrurlnpnu.f trcuz rurifiu 22750 113769

6s3 10000 L1h!urpnt0bpqfu trcu2 uilfu 570000 6840000 12

661 10000 truh\u3]rtr brunulnrplnrtr trcuz hrurn 4500 1 3500 3

665 1 0000
U02upd qntlpfr luqurhnr{urqpntplm[i /pruurpn0fr

2h0p+llruBuur tururm0/
ACUZ hrurn 300000 300000

665 r4100 U{unilhpttrurl}r urquhmluqpnr-pj ntfu PCUZ hruu 44000 44000

71631100 thnntqduh turrauuhhnh rhnn&urphhmntmh trtuz hunn 78880 78880

7163 1 100 kulpuurlurururh b]uurururp nqlrirhpfr urnmqrrrl trCUZ hunn 40000 40000
71631200 fhphtrurrh rnhtu. ohhnui trcuz huru 21800 21800
72410000 h0urbp0burulfi0 gruhg trQUZ unifru 25000 300000 12

724t3000 r{urtph uruuruurntmrl FCUZ ullhu 8330 r 00000 12

724t3000 9urlplr qulnpuruurnul FCU2 huln 300000 300000
793 000 Tn{uq4ru.1}r 0 burnurl ntpl nrh FCUZ 4purd 150000 I 50000

795 000 'TI ururdhfu u hurhtlufu brunurlnlp1nrfu trcu2 4putl 600 600

805 000 humomil. dhnunu ururnuruurmil trcuz nntud 40000 40000
905 000 Unnurhru0mBrur0 rl durn FEUZ ruilhu 1 0250 r23000 12

90670000 lhnururhqurqhru ACUZ urdhu 7000 84000 12

923t2210 Zurrhhhhrut FCUZ unlfru 773500 9282000 1.2

983 I 0000 Qfll.riruppmd trcu2 4nunl 300000 300000

98393000
lu\f1bhp[ urpururhurqmuur]r /ul{runurl}rh h d.ilhnru3lrL/

Itn&u!h burnurlmBlnrh trcuz hruu I I 2500 I 12500

98393000
-|hpuruurtrhbnh_u 

tltn ru hruqnrumfr 4Lpdu\|r trcuz hurtn 10000 t00000

98390000 .ffi trcu2 huln 7500 22s00 J

99600000 g?o' 4Iruui 2000000 2000000

WMWWN'-r";?"R 54,614,760
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